Answer Key

1. B DOK2
¢ 2. A DOK2
£ 3. C pok2
| 4. D DOK2
. 5. C DOKI
" 6. B DOK2
¢ 7. C DOK2
I 8. C DOK2
. 9. A,D E DOK2
10. Term Value
a 14
a, =13
a, —67
. -130
DOK2
11. PartA
an218.50+(n—1)(1.75)
Part B

$0795; e =1 6l0 (6=1)(1.75) = 18.50 +
5(1.75) = 27.25
DOK2
12. 51; Sample answer:
) = =40y = 1)
G} = =) (8 —1)13) = —40 + 7(13) = 51
DOK2
13. PartA
6 = Jlll=s (n—1)3)
PartB
35; Sample answer:
gl (9 —1)3) =11+ 8(3) = 35
DOK2

[ —
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14. no; Sample answer:

. 162.8 =1.8n

15.

If 214.4 is a term, then for some whole number
value of n, 214.4 = 53.4 + (n — 1)(1.8). Solve this
equation. If nis a whole number, then 214.4 is a
term.

214:.4 =53.4 4+ (n—1)1.8)
2144=534+18n—1.8

n=90.4
Since nis not a whole number, 214.4 is not a term
in the sequence.
DOK3
Part A
p + g — 6; Sample answer:
eierelar = Uas 7 = Zaar Grr | — o7 =
pTg-=6
Bpt2g-—5 - @ot+tgtl)=3p+t2g—5—
2p—lgi— I = plig— 6
[dpcg == Cp § 2g- 5)=“4p+t3g—
Nl =2p==2% 8= @a— 5
Part B
6. o 7 i Llern el = 6)
Part C
o] = e T A2 = leres =)
=p+7+1lp+1lg—66
=12p+ 11g — 59
Part D

Yes; Sample answer: Set the value of the first term
equal to p + 7 and solve for p. In the example
given,p+ 7 =9, scp = 2. Then, find the value
of din the sequence, and set that value equal to
p + g — 6, substitute the value of p found in the
first step, and solve for g. In the example given,
p+tg—6=2+g—6=10,5s0g—4 =10,
andg=14.

DOK3
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